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6.34=6+0.3+0.04

9.31 = |+ |+ |
@9,0.3,0.01 @ 9,3,1 ® 9,0.3,0.1
@ 0.9,0.3,0.1 ® 0.9,0.03,0.01

9.31=9+0.3+0.01




@ (1) 0.2201  (2) 1.5338 @(1) 2.201
@ (1) 22.01 (2) 15.338 @ (1) 220.1

® (1)220.1 (2) 1533.8

(2) 15.338

(2) 153.38
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1000 *
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4

5.36 2} 0.02 2 4 O 6.4HT0.02 &

B

5.36 B} 0.02 & & 5.38 0|11
6.4 2} 0.02 22 4= 6.38 YU
&40 A7) Ads FEo] 245 AX
Adrt ZFow 24 AA 22, A4 A2, AR A 59
w02 3715 Ha gy
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20. t& T HEEA YERE A2 of= A AEAL,

@ 1132m = 11.32km @54.1 kg = 54100 g
® 3km 90m = 3.9km @ 1.13kg=113g

® 17.02cm = 1702 mm

B

1m = 0.001km, 1g = 0.001kg, 1lmm = 0.1 cm

@D 1132m = (1132 x 0.001) km = 1.132km

® 3km90m = 3090 m = (3090 x 0.001) km = 3.09 km
@ 1.13kg = (1.13 x 1000) g = 1130 g

® 17.02c¢m = (17.02 x 10) mm = 170.2 mm
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16.78 — 8.093 — 2.78 = 8.687 — 2.78 = 5.907
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4.62(+)2.69 = 7.31, 4.62(-)2.69 = 1.93,
1.983(+)0.053 = 2.036, 1.983(~)0.053 = 1.93
whebA] 4.62(-)2.69 = 1.983(-)0.053
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whabA] 3.28 + 2.9 = 6.18
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3,0, Al He] 71 SlEUH. @2t ©°] &2 21.8, O ©°] T2

21, ¢ ©2] T2 17294t} Al &
2 FoHA L

=
[=

| 2
> He: 46

~&B

= 1A 2 S 7V 2R 4o
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